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Use the figure at the right for Exercises §—11.

8. If RS =

1Sand ST = 9, then RT = .,

9. If ST = 15and RT = 40, then RS =

10. a. Algebra If RS = 2x + 1.ST =

b. Find RS and S7T.

11. a. Algebra lfR.s =8¢ + 4, 85T =4y + 8
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b. Find RS. S'I and RT.
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12. Algebra A is the midpoint of XY

a Find XA. 9

b. Find AY and XY A\f - -N_?\

Algebra In Exercises 13-13, use the ﬁgurc and

13. PT =5x + 3

3and TQ = 7x — 9 1= 3%
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cand RT -

g and RT = 15y
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(4. PT = 4x — 6and TQ = 3x +4 V1= o7

15, PT = Tx — 24 and TQ

.
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- 9 find the value

M find the value of x.

XN < 1D
find PT.
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o 15 = 3BY+H = 39l = 40

e %\ﬁ_,,é,-r 4y 0 = 19y -9
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1\ = Y

=9
RS = By +4 = DU A=UO
o &(MD+B = 1D +D =30

R —_“\\L'?/ . Av-U= 3 +4
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\’L:lf- K= 10
=  PT=4(19-b
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T AlLYFD = B0x3=33
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